	Please show all of your work and/or logic followed in preparing the solutions.

	
	

	

	#1:  Comparing Interest Rates 
[image: image1.png]‘Comparing Interest Rates. Suppose you can bomow money at 86 percent per year (APR)
compounded semianmally o 8.4 pescnt o yar (APR)coepounded montly Which i the
bt deal?






	

	#3: Applying the Time Value 
[image: image2.png]Applying Time Value. You invest $1.000 today and expect to sell your iavestment for 32,000
ia 10youn.

& 1 i o del f th discount e i § e
b What ifthe disceiat ate i 10 peocent?






	#4:  Investment Criteria 
[image: image3.png]Tavestment Criteria. If you insulaie your office for $10,000, you will save $1,000  year in
g xpease. Thss savinga will st e,

o Wi the NP of ths vt whe tecost ofcial i 8 et 10 prcs?

B Wt i he IR f the vimeat?

& What s the payback period on this investment?






	#5:  IRR & NPV 

[image: image4.png]TRR/NPY. Consider this project with aa intemal rate of return of 13.1 percent. Should you ac-
cepo et e et h dscount i 12 purcen
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	#6: Buy vs. Lease

[image: image5.png]Buy versus Lease. You can buy a car for $25,000 and sell it in 5 years for $5.000. Or you can
lease the car for 5 years for $5,000 a year. The discount rate is 12 percent per year.

4. Which option do you prefer?

b. What i the maximum amount you should be willing to pay to lease rather than buy the car?






	#7: WACC Components – Quiz #1,2, 4, & 5

Part A

[image: image6.png]Cost of Debt. Micro Spinoffs, Inc., issued 20-year debt a year ago at par value with a coupon
rate of § percent, paid annually. Today, the debt s selling at $1,050. If the firm's tax bracket is
'S percent, what is its after-tax cost of debt?





Part B

[image: image7.png]Cost of Preferred Stock. Micro Spinoffs also has preferred stock outstanding. The stock pays
a dividend of $4 per share, and the stock sells for $40. What i the cost of preferred stock?




Part C

[image: image8.png]Cost of Equity. Reliable Electric is a regulated public utility, and it is expected to provide
steady growth of dividends of § percent per year for the indefinite future. s last dividend was
$5 per share;the stock sold for $60 per share just aier the dividend was paid. What s the com-
pany’s cost of equity?




Part D

[image: image9.png]Calculating WACC. Reactive Industries has the following capital structure. lis corporate tax:
ateis 35 percen. What is ts WACC!

Socurty Market Value _ Required Rate of Retum
Debt $20 millon %
Prfesd stock  $10millon %

Commenstock 50 millon 12%






	#8: Calculating WACC

[image: image10.png]Calculating WACC. Find the WACC of William Tell Computers. The total book value of the.
s cquity i $10 million book value per shareis $20. The stock sels for price of 30 per
shars, and th cost of ety i 15 pereen. The fim's bonds have a face vale of §5 millon and
el  price of 110 percent offace vale. The ield to maturity on the bonds is O percent, and
the firm’s tax ate is 40 perceat.






	Bonus:  Percent of Sales Method - Brealey 

[image: image11.png]Percentage of Sales Models. Here are the abbreviated financial statements for Planners

Peanuts:
INCOME STATEMENT, 2003
Sales $2,000
Cost 1500
Net income § 500
BALANCE SHEET, YEAR-END
2002 2003 2002
Assets  $2500  $3,000 Debt $ 833
Equity 1,667
Total $2500  $3,000 Total $2,500

2003
$1,000

2,000
$3,000

I sales increase by 20 percent in 2004, and the company uses a strict percentage of sales plan-
ning model (meaning that al items on the income and balance sheet also increase by 20 per-

cent), what must be the balancing item? What will be its value?
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